S

WASBYE

Parts Catalog - Option Detail

nine

Option Group Graphic Film Card Date
BP1126 08.01 wp100gv F 15-SEP-94
Engines ||NH/NT 855, NT495, NT743, NTA855 N106
SMALL | MEDIUM | LARGE
View My Cart

BP1126

Water Pump And Idler

Water Pump And Idler

For naturally aspirated Big



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('wp100gv','/rtgraphics/english/parts/wp/1/wp100gv_sm.png');
javascript:swap_img('wp100gv','/rtgraphics/english/parts/wp/1/wp100gv_md.png');
javascript:swap_img('wp100gv','/rtgraphics/english/parts/wp/1/wp100gv_lg.png');

Cam | 855 Industrial engines.

2 3076522 Water Pump Gasket
4 S911B Pipe Plug 1/8 NPT
5 S 16255 Retaining Ring
6 196844 Bearing Spacer
7 3000888 Water Pump Impeller
8 3013786 Pipe Plug 3/8 NPT.
9 3025861 Water Pump Pulley
10 3071085 Water Pump Seal
11 3045163 Water Pump Body
12 3050394 Water Pump Shaft
13 3063246 Ball Bearing
14 S 201 Heavy Hexagon Nut 5/8 - 11 UNC.
15 S 965 E Pipe Plug 1/16 NPT
16 S 16255 Retaining Ring
17 213082 Plain Washer 5/8 inch
18 215397 Idler Pulley
19 3050395 Mounting Spacer
20 3050396 Idler Shaft
21 3063246 Ball Bearing
22 182706 Hexagon Head Cap Screw 1/2-13 x5 5/8 inch
23 3012468 Captive Washer Cap Screw 3/8 -24 x 2 1/4 inch
24 3012469 Captive Washer Cap Screw 3/8 -24 x 3 1/4 inch
25 217638 V Ribbed Belt
3801710 Water Pump Repair Kit For minor repairs.
1 43463 A O-Ring Seal
2 3076522 Water Pump Gasket
3 3024960 Connection Gasket
10 3071085 Water Pump Seal




13 3063246 Ball Bearing
16 S 16255 Retaining Ring
3801712 Water Pump Repair Kit For major repairs.
6 196844 Bearing Spacer
7 3000888 Water Pump Impeller
12 3050394 Water Pump Shaft
3801710 Water Pump Repair Kit Minor kit.



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

